

BID BULLETIN NO. 01

Date:

11 September 2023

ITB No.:

bac-23-0830f

Project Name:

Supply and Delivery of Various Supplies for Various

Programs of Office of the SK President - LYDO

ABC: Php1,906,700.00

To all prospective bidders:

This Bid Bulletin is issued to clarify, supplement, modify and/or revise the particular sections in the Bid and Contract Documents as stipulated in the Bidding Documents issued on 30 August 2023. The Bidders shall take note of the following items carefully and consider them in the preparation of their bid proposals, as they shall form part of the CONTRACT DOCUMENTS.

Item		evious Specification/ tion/Request to Con		Amendment/Response to Clarification		
1	PREVIO	US SECTION CAL SPECIFICATIONS XXX XXX XXX	VII.	- 100 C 1	TENT TO SECTION VII. CAL SPECIFICATIONS XXX XXX XXX	
	ITEM	SPECIFICATION		ITEM	SPECIFICATION	
	26	Chocolate Biscuit, -Atleast 36 g		26	Chocolate Biscuit, - Atleast 36 q	
	27	Cultured Milk, -Atleast 80 - 5 pieces per pack	mL	27	Cultured Milk, -Atleast 80 mL -5 pieces per pack	
	28 Chocolate Powdered Milk Drink, -300g		Milk	28	Chocolate Powdered Milk Drink, -300g	
	29	Ascorbic Acid (Vitaming 10 tablets per - Oral	**	29	Ascorbic Acid (Vitamin C), - 10 tablets per pack	
	30	Chocolate Candies, -50 pieces per - At least 165 grams	pack	30	-Oral Chocolate Candies, -50 pieces per pack - At least 165 grams	



2	PREVIOUS ITEMS TO BE BID	AMENDMENT TO ITEMS TO BE BID	
•3	As reflected in the Bidding Documents	Please refer to Annex "A" for the	e
	uploaded in PhilGEPS	Revised Items to be Bid	

Bidders who have already submitted bids are hereby informed that they are allowed to modify or withdraw their bids, if necessary, before the scheduled opening of bid envelopes.

For modifications in your original submitted bid, kindly submit new bidding documents (sealed and marked as "Modified Bid") and have these received at the Office of the Bids and Awards Secretariat. Bid modifications received after the deadline shall not be considered and shall be returned to the bidder unopened.

Conforme:

END-USER REPRESENTATIVE Signature Over Printed Name

ATTY. JOSEPHINE C. LATI-BAGAOISAN Chairperson

ANNEX "A"

REVISED ITEMS TO BE BID

ITEM NO	QTY	UOM	APPROVED UNIT PRICE (PHP)	APPROVED BUDGET FOR THE CONTRACT (PHP)	DESCRIPTION
1	600	pcs	65.00	39,000.00	Chocolate Biscuit
2	600	packs	50.00	30,000.00	Cultured Milk
3	600	pcs	120.00	72,000.00	Chocolate Powdered Milk Drink
4	600	pack	80.00	48,000.00	Ascorbic Acid (Vitamin C)
5	300	pack	50.00	15,000.00	Chocolate Candies
6	300	pack	40.00	12,000.00	Menthol Candies
7	300	pack	40.00	12,000.00	Fruity Candies
8	500	pack	15.00	7,500.00	Corn Tube
9	500	pack	15.00	7,500.00	Corn nuts
10	10,000	pcs	30.00	300,000.00	Bread Sticks
11	10,000	pcs	20.00	200,000.00	Orange Juice
12	10,000	pcs	55.00	550,000.00	Chocolate Chip Cookies
13	10,000	packs	15.00	150,000.00	Milk Chocolate
14	20,000	pcs	15.00	300,000.00	Bread Sticks w/ Dip
15	5	pack	500.00	2,500.00	Chocolate with Almond nuts
16	400	pcs	60.00		Orange Juice with plastic straw
17	400	pack	60.00	24,000.00	Cup Cake Assorted Flavor
18	400	packs	70.00	28,000.00	Powdered Milk
19	400	pcs	35.00	14,000.00	Breakfast Cereal

20	400	pack	80.00	32,000.00	Vitamin Gummy Candy
21	400	pcs	20.00	8,000.00	Bread Sticks
22	120	bottle	65.00	7,800.00	Povidone Iodine
23	120	pcs	20.00	2,400.00	Cotton balls
24	120	box	80.00	9,600.00	Adhesive Bandage
25	120	pcs	95.00	11,400.00	Isoprophyl Alcohol
26	600	pes	65.00	39,000.00	Chocolate Biscuit
27	600	packs	50.00	30,000.00	Cultured Milk
28	600	pes	120.00	72,000.00	Chocolate Powdered Milk Drink
29	600	-pack	80.00	48,000.00	Ascorbic Acid (Vitamin C)
30	300	- pack	50.00	15,000.00	Chocolate Candies
			TOTAL	1,906,700.00	